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* A typical problem in which the linear momentum theorem is applicable : &\\Dﬂu
is the conveyor belt problem. Material is dropped continnously from a AWQ
hopper onto & moving belt, and it is required to find the foree F required : o V k\ e .\ \ﬁ e S at
to keep the belt moving at constant velocity r (Fig. 4-2). Let the rate o} \
at which mass is dropped on the belt be dm/dl. 1f m is the mass of material Mv o N
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We assume that the hopper is at rest; otherwise the momentum of the
hopper and its contents must be included in Eq. (4-50). The linear mo- { V »
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N This gives the force applied to the belt. The power supplied by the force is ) M.Ix en / .*) l\\ & e Ca \\N /w (o0”
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Where is the excess half of the power going! v —— $

o -

e

Fhe collisiéna 3 noim\a\m.\{ ?Am\nnfw.\\.nu
fhe MD;L N@.\/m \rovrw N.@* U3 Do\l\ac.&m Jle

" 0,\. apxn\ AQ\\~L2.
Q:Q‘NV\

13
loss wher mass Jm
»u@ﬂo\hv 00\\\.9?&‘

wilh dhe vane. Lel \c\wu o (. afier
,303«;.?3 DQ:.Q:CP.\BVHHHW R\C.W - \(\\Qw.‘@s\&ﬂ\p

b) P= Fo =4 3

~ AL &ml\ . before
n.v ML\A\AWM\V = W\&Au\m S\QLV =V &Mh Let mnw = m.ﬂ}m:\w\ ¢ o?ﬁv , . \
Ey =3 Moy” [ E =3 Moy +3dm e, mos;\uv

N o Lke) 2P L

_V dm) 2 1 25
E,-E, :NHM ME) -2 n pdn ] _
Zdn v OoWdm?) = o

N
~_nm\nI‘ = L gdm| wheh S acmx tpnn ]-
\N:.f QM\ Nk«\wvx *0 &m nOca.T& x

>
m
il

e e



